

POLYNOMIAL APPROXIMATION ON POLYDISKS

Kieu Phuong Chi

Department of Mathematics, Vinh University

Abstract. In this paper we give results about polynomial approximation on the closed polydisk in \mathbb{C}^n .

1. Introduction

Let X be a compact subset of \mathbb{C}^n . By $C(X)$ we denote the space of all continuous complex-valued functions on X , with norm $\|f\|_X = \max\{|f(z)| : z \in X\}$, and let $P(X)$ denote the closure of set of polynomials in $C(X)$. The polynomially convex hull of X will be denoted by \hat{X} and defined by

$$\hat{X} = \{z \in \mathbb{C}^n : |p(z)| \leq \|p\|_X \text{ for every polynomial } p\}.$$

X is called polynomially convex if $X = \hat{X}$. One necessary condition for $P(X) = C(X)$ is X is polynomially convex.

Let M be real manifold in \mathbb{C}^n . We say that M has *totally* real if M has no complex tangent vectors, i.e. $(T_a M) \cap i(T_a M) = \{0\}$. It is well-known that every continuous function on compact subset X of totally real manifold M is the uniform limit of sequence of polynomials, i.e. $P(X) = C(X)$.

Let D be small closed polydisk in \mathbb{C}^n , centered at the origin and $f_1, f_2, \dots, f_m \in C(D)$. By $[z_1, z_2, \dots, z_n, f_1, f_2, \dots, f_m; D]$ we denote the function algebra consisting of uniform limits on D of all polynomials in z_1, z_2, \dots, z_n and f_1, f_2, \dots, f_m . The problem is that to find conditions of f_1, \dots, f_m such that $[z_1, z_2, \dots, z_n, f_1, f_2, \dots, f_m; D] = C(D)$. J.Wermer, Nguyen Quang Dieu, P.J. de Paepe, ... have many results if D is disk. Nguyen Quang Dieu and P.J. de Paepe have shown that $[z, f(z); D] = C(D)$ for some choices of f , while for other choices of f to have $[z, f(z); D] \neq C(D)$ (see [4], [5], [6], [7]). In the general, H. Alexander and J.Wermer [1] (Theorem 17.5) used the result about approximation of totally real manifold to proved the following results.

Theorem 1.1. Suppose $R_1(z), \dots, R_n(z)$ are complex-value continuously differentiable function on D satisfy conditions

$$|R(z) - R(z')| \leq k|z - z'| \quad \forall z, z' \in D,$$

where $0 \leq k < 1$, $R(z) = (R_1(z), \dots, R_n(z))$ and $|w| = \sqrt{|w_1|^2 + \dots + |w_n|^2}$ with $w = (w_1, \dots, w_n) \in \mathbb{C}^n$. Then

$$[z_1, \dots, z_n, \bar{z}_1 + R_1(z), \dots, \bar{z}_n + R_n(z); D] = C(D).$$

Typeset by $\mathcal{A}\mathcal{M}\mathcal{S}$ -T_EX

The line of proof of Wermer is to prove the graph

$$X = \{(z_1, \dots, z_n, \overline{z}_1 + R_1(z), \dots, \overline{z}_n + R_n(z)) : z = (z_1, \dots, z_n) \in D\}$$

is totally real manifold. In this paper we give the generalize result of Wermer. But the line of proof is not the same of Wermer's, because most of our graph is not totally real at the origin. Our proof use the theorem of Stout [3]:

Theorem 1.2. *Suppose that:*

- (1) X_1 and X_2 are compact subsets of \mathbb{C}^n with $P(X_1) = C(X_1)$ and $P(X_2) = C(X_2)$;
- (2) Y_1 and Y_2 are polynomially convex subsets of \mathbb{C} such that 0 is boundary point of both Y_1 and Y_2 , and $Y_1 \cap Y_2 = 0$;
- (3) p is a polynomial such that $p(X_1) \subset Y_1$ and $p(X_2) \subset Y_2$;
- (4) $p^{-1}(0) \cap (X_1 \cup X_2) = X_1 \cap X_2$. Then $P(X_1 \cup X_2) = C(X_1 \cup X_2)$.

For an extensive survey on Stout's theorem and its proof we refer the reader to [7] and [10], for basis material on polynomial convexity and totally real manifold the readers may consult [1] and [2].

Acknowledgments. The author wishes to express his thank to Dr. Nguyen Quang Dieu for suggesting the problem and for many stimulating conversations.

2. The main results

We now come to the main results of the paper.

Theorem 2.1. *Let k_1, k_2, \dots, k_{2n} be positive integers and $\gcd(k_i, k_j) = 1$ (k_i, k_j are co-prime), $\forall i \neq j$ and D is sufficiently small polydisk centered at the origin in \mathbb{C}^n . Let $R : \mathbb{C}^n \rightarrow \mathbb{C}^n$ be a function satisfying conditions*

- 1) $R(z) = (R_1(z), \dots, R_n(z))$ with $R_i(z)$ is continuously differentiable functions on D ;
- 2) $R(z) = o(|z|)$;
- 3) $|R(z) - R(z')| \leq M|z - z'|, \forall z, z' \in D$ where $0 \leq M < 1$.

Then

$$[z_1^{k_1}, \dots, z_n^{k_n}, (\overline{z}_1 + R_1)^{k_{n+1}}, \dots, (\overline{z}_n + R_n)^{k_{2n}}; D] = C(D).$$

Remark. The graph

$$X = \{(z_1^{k_1}, \dots, z_n^{k_n}, (\overline{z}_1 + R_1(z))^{k_{n+1}}, \dots, (\overline{z}_n + R_n(z))^{k_{2n}}) : z = (z_1, \dots, z_n) \in D\}$$

is not totally real at the origin if there exists $k_{n+i} \neq 1$. (see [2], p. 2). By Theorem 2.1 it is polynomially convex if D small enough.

We need the following proposition.

Proposition 2.2. Let X be a compact subset of C^m , and let $\pi : \mathbb{C}^m \rightarrow C^m$ be defined by

$$\pi(z_1, z_2, \dots, z_m) = (z_1^{k_1}, z_2^{k_2}, \dots, z_m^{k_m}).$$

Let $\pi^{-1}(X) = X_{1,1,\dots,1} \cup \dots \cup X_{i_1,i_2,\dots,i_m} \cup \dots \cup X_{k_1,k_2,\dots,k_m}$, with $X_{1,1,\dots,1}$ compact, and

$$X_{i_1,i_2,\dots,i_m} = \{(\rho_{k_1}^{i_1-1} z_1, \rho_{k_2}^{i_2-1} z_2, \dots, \rho_{k_m}^{i_m-1} z_m) : (z_1, z_2, \dots, z_m) \in X_{1,1,\dots,1}\}$$

for $1 \leq i_1 \leq k_1, \dots, 1 \leq i_m \leq k_m$, where $\rho_{k_j} = \exp(\frac{2\pi i}{k_j})$ with $j = 1, \dots, m$. If $P(\pi^{-1}(X)) = C(\pi^{-1}(X))$, then $P(X) = C(X)$.

Lemma 2.3. Suppose X_{i_1,i_2,\dots,i_m} are defined as in proposition 2.2 and let

$$Q(z_1, z_2, \dots, z_m) = \sum a_{j_1,\dots,j_m} z_1^{j_1} z_2^{j_2} \dots z_m^{j_m}$$

by a polynomial in m variables. For each X_{i_1,i_2,\dots,i_m} with $1 \leq i_1 \leq k_1, \dots, 1 \leq i_m \leq k_m$ put

$$Q_{i_1,i_2,\dots,i_m}(z_1, \dots, z_m) = Q(\rho_{k_1}^{i_1-1} z_1, \dots, \rho_{k_m}^{i_m-1} z_m).$$

Then

$$\frac{1}{k_1 k_2 \dots k_m} \sum Q_{i_1,\dots,i_m}(z_1, \dots, z_m) = \sum a_{p_1 k_1, \dots, p_m k_m} z_1^{k_1 p_1} \dots z_m^{k_m p_m}.$$

Proof. First, we assume that Q has the form $Q(z_1, \dots, z_m) = a z_1^{s_1} \dots z_m^{s_m}$. We have

$$\begin{aligned} \frac{1}{k_1 k_2 \dots k_m} \sum Q_{i_1,\dots,i_m}(z_1, \dots, z_m) &= \frac{a}{k_1 \dots k_m} z_1^{s_1} \dots z_m^{s_m} \sum_{1 \leq i_1 \leq k_1, \dots, 1 \leq i_m \leq k_m} \rho_{k_1}^{(i_1-1)s_1} \dots \rho_{k_m}^{(i_m-1)s_m} \\ &= \frac{a}{k_1 \dots k_m} z_1^{s_1} \dots z_m^{s_m} \prod_{j=1}^m \left(\sum_{1 \leq i_j \leq k_j} (\rho_{k_j}^{s_j})^{i_j-1} \right). \end{aligned}$$

If there exists $1 \leq j \leq m$ such that $s_j \neq p_j k_j$ then

$$\sum_{1 \leq i_j \leq k_j} (\rho_{k_j}^{s_j})^{i_j-1} = \frac{(\rho_{k_j}^{s_j})^{k_j} - 1}{\rho_{k_j}^{s_j} - 1} = \frac{(\rho_{k_j}^{k_j})^{s_j} - 1}{\rho_{k_j}^{s_j} - 1} = 0,$$

where $\rho_{k_j}^{k_j} = (\exp \frac{2\pi i}{k_j})^{k_j} - 1 = 0$. We obtain

$$\frac{1}{k_1 k_2 \dots k_m} \sum Q_{i_1,\dots,i_m}(z_1, \dots, z_m) = 0.$$

In the case $s_j = p_j k_j, \forall 1 \leq j \leq m$ we have

$$\sum_{1 \leq i_j \leq k_j} (\rho_{k_j}^{s_j})^{i_j-1} = \sum_{1 \leq i_j \leq k_j} (\rho_{k_j}^{k_j})^{p_j(i_j-1)} = k_j.$$

We conclude that

$$\frac{1}{k_1 k_2 \dots k_m} \sum Q_{i_1, \dots, i_m}(z_1, \dots, z_m) = \frac{a}{k_1 \dots k_m} z_1^{s_1} \dots z_m^{s_m} \prod_{j=1}^m k_j = a z_1^{p_1 k_1} \dots z_m^{p_m k_m}.$$

Since every polynomial Q can write that the finitely sum of $a z_1^{s_1} \dots z_m^{s_m}$, we have

$$\frac{1}{k_1 k_2 \dots k_m} \sum Q_{i_1, \dots, i_m}(z_1, \dots, z_m) = \sum a_{p_1 k_1, \dots, p_m k_m} z_1^{k_1 p_1} \dots z_m^{k_m p_m}.$$

Proof of proposition 2.2.

Let $f \in C(X)$. Then $f \circ \pi \in C(\pi^{-1}(X))$, so there is a polynomial Q in two variables, with $f \circ \pi \sim Q$ on $\pi^{-1}(X)$. In particular, this is true for X_{i_1, i_2, \dots, i_m} , so

$$f(z_1^{k_1}, \dots, z_m^{k_m}) \sim Q(\rho_{k_1}^{i_1-1} z_1, \dots, \rho_{k_m}^{i_m-1} z_m) = Q_{i_1, \dots, i_m}(z_1, \dots, z_m) \quad \text{on } X_{1, \dots, 1}.$$

It follows that

$$f(z_1^{k_1}, \dots, z_m^{k_m}) \sim \frac{1}{k_1 \dots k_m} \sum Q_{i_1, \dots, i_m}(z_1, \dots, z_m) \quad \text{on } X_{1, \dots, 1}.$$

By Lemma 2.3 if

$$Q(z_1, \dots, z_m) = \sum a_{r_1, \dots, r_m} z_1^{r_1} \dots z_m^{r_m},$$

then the right hand side to equals $\sum a_{p_1 k_1, \dots, p_m k_m} z_1^{k_1 p_1} \dots z_m^{k_m p_m}$, so equals to $P(z_1^{k_1}, \dots, z_m^{k_m})$, where P is a polynomial in m variables. We conclude that

$$f(z_1^{k_1}, \dots, z_m^{k_m}) \sim P(z_1^{k_1}, \dots, z_m^{k_m}) \quad \text{on } X_{1, \dots, 1}.$$

That is $f \sim P$ on X . So $P(X) = Q(X)$.

Proof of Theorem 2.1. First we show that the functions

$$z_1^{k_1}, \dots, z_n^{k_n}, (\overline{z_1} + R_1(z))^{k_{n+1}}, \dots, (\overline{z_n} + R_n(z))^{k_{2n}}$$

separate points near the origin. Indeed, let $a = (a_1, \dots, a_n), b = (b_1, \dots, b_n) \in D$ and $a \neq b$. Since $a \neq b$ there exist $1 \leq i \leq n$ such that $a_i \neq b_i$. If $b_i \neq a_i \exp(\frac{2s\pi i}{k_i})$, $1 \leq s \leq k_i - 1$ then $z_i^{k_i}$ separates a_i, b_i .

Next if $b_i = a_i \exp(\frac{2s\pi i}{k_i})$ we show that $(\overline{z_i} + R_i(z))^{k_{n+i}}$ separates them. Now assume that $(\overline{z_i} + R_i(z))^{k_{n+i}}$ take the same value at a_i and b_i . We have

$$(\overline{a_i} + R_i(a))^{k_{n+i}} = (\overline{b_i} + R_i(b))^{k_{n+i}}.$$

We obtain

$$\overline{a_i} + R_i(a) = (\overline{a_i} \exp(\frac{2r\pi i}{k_i}) + R_i(b)) \exp(\frac{2t\pi i}{k_{n+i}})$$

for some $1 \leq r \leq k_i - 1$ and $1 \leq t \leq k_{n+i}$. It follows that

$$\bar{a}_i \left(1 - \exp\left(\frac{2r\pi i}{k_i}\right) \exp\left(\frac{2t\pi i}{k_{n+i}}\right) \right) = (-R_i(a) + R_i(b) \exp\left(\frac{2t\pi i}{k_{n+i}}\right)).$$

Dividing both sides by \bar{a}_i we obtain

$$\left(1 - \exp\left(\frac{2r\pi i}{k_i}\right) \exp\left(\frac{2t\pi i}{k_{n+i}}\right) \right) = \frac{-R_i(a) + R_i(b) \exp\left(\frac{2t\pi i}{k_{n+i}}\right)}{\bar{a}_i}.$$

By the coprimeness of k_i and k_{n+i} we see that $\frac{r}{k_i} + \frac{t}{k_{n+i}}$ is not integer for all $1 \leq r \leq k_i - 1$ and $1 \leq t \leq k_{n+i}$, so $\left(1 - \exp\left(\frac{2r\pi i}{k_i}\right) \exp\left(\frac{2t\pi i}{k_{n+i}}\right) \right) \neq 0$. Using the fact that $R(z) = o(|z|)$ we arrive at a contradiction if we choose the polydisk D sufficiently small.

Next, suppose that polynomial map $\pi : \mathbb{C}^{2n} \rightarrow \mathbb{C}^{2n}$ is defined by $\pi(z_1, \dots, z_{2n}) = (z_1^{k_1}, \dots, z_{2n}^{k_{2n}})$. We put

$$X = \{(z_1^{k_1}, \dots, z_n^{k_n}, (\bar{z}_1 + R_1(z))^{k_{n+1}}, \dots, (\bar{z}_n + R_n(z))^{k_{2n}}) : z = (z_1, \dots, z_n) \in D\}.$$

Then we have $\pi^{-1}(X) = \cup X_{i_1, \dots, i_{2n}}$ with

$$\begin{aligned} X_{i_1, \dots, i_{2n}} &= \\ &= \left\{ \left(\rho_{k_1}^{i_1-1} z_1, \dots, \rho_{k_n}^{i_n-1} z_n, \rho_{k_{n+1}}^{i_{n+1}-1} (\bar{z}_1 + R_1(z)), \dots, \rho_{k_{2n}}^{i_{2n}-1} (\bar{z}_n + R_n(z)) \right) : (z_1, \dots, z_n) \in D \right\}. \end{aligned}$$

Therefore by Theorem 1.1

$$P(X_{i_1, \dots, i_{2n}}) = C(X_{i_1, \dots, i_{2n}})$$

for all $1 \leq i_1 \leq k_1, \dots, 1 \leq i_{2n} \leq k_{2n}$. We show that $P(\pi^{-1}(X)) = C(\pi^{-1}(X))$. To do this, we consider the polynomial

$$p(z_1, \dots, z_n, z_{n+1}, \dots, z_{2n}) = z_1 \dots z_n \cdot z_{n+1} \dots z_{2n}.$$

We obtain

$$p(X_{i_1, \dots, i_{2n}}) = \{ \rho_{k_1}^{i_1-1} \dots \rho_{k_{2n}}^{i_{2n}-1} (|z_1|^2 + \bar{z}_1 R_1(z)) \dots (|z_n|^2 + \bar{z}_n R_n(z)) : (z_1, \dots, z_n) \in D \}.$$

We see that the sets $p(X_{i_1, \dots, i_{2n}})$ are contained in an angular sector at 0, situated near the half line through 0 with argument $2\pi(\frac{i_1-1}{k_1} + \dots + \frac{i_{2n}-1}{k_{2n}})$. By the coprimeness of k_i, k_j for all $i \neq j$ we obtain

$$\frac{i_1-1}{k_1} + \dots + \frac{i_{2n}-1}{k_{2n}} \neq \frac{j_1-1}{k_1} + \dots + \frac{j_{2n}-1}{k_{2n}}$$

with $i_s - 1 \neq j_s - 1$ for some $1 \leq s \leq 2n$. It follows that

$$p(X_{i_1, \dots, i_{2n}}) \cap p(X_{j_1, \dots, j_{2n}}) = \{0\}$$

and

$$p^{-1}(0) \cap (X_{i_1, \dots, i_{2n}} \cup X_{j_1, \dots, j_{2n}}) = (X_{i_1, \dots, i_{2n}} \cap X_{j_1, \dots, j_{2n}}) = (0, \dots, 0)$$

for all $1 \leq i_1, j_1, \leq k_1, \dots, 1 \leq i_{2n}, j_{2n}, \leq k_{2n}$ with $i_s \neq j_s$ for some $1 \leq s \leq 2n$.

Furthermore, it is easy to see that $\mathbb{C} \setminus p(X_{i_1, \dots, i_{2n}})$ is connected set if D sufficiently small, so $p(X_{i_1, \dots, i_{2n}})$ is polynomially convex [3]. Applying Stout's theorem repeatedly, we obtain

$$P(\pi^{-1}(X)) = C(\pi^{-1}(X)).$$

By proposition 2.2 we conclude that $P(X) = C(X)$, or equivalently

$$[z_1^{k_1}, \dots, z_n^{k_n}, (\overline{z_1} + R_1)^{k_{n+1}}, \dots, (\overline{z_n} + R_n)^{k_{2n}}; D] = C(D).$$

The theorem is proved.

References

1. H. Alexander and J. Wermer, Several Complex Variables and Banach Algebras, *Grad. Texts in Math.*, Springer-Veglag, New York, **35**1998.
2. E. M. Chirka, Approximation by holomorphic functions on smooth manifolds in \mathbb{C}^n , *Mat. Shornik*, **78**(120), 1969. (translated by: E. J. Akutowicz).
3. T. W. Gamelin, *Uniform Algebras*, Prentice-Hall (1984).
4. Kieu Phuong Chi, Function Algebras on a disk, *VNU, T. XVIII*(2002).
5. Nguyen Quang Dieu and P.J. de Paepe, Function Algebras on Disks., *Complex Variables* **47**(5) (2002) 447-451.
6. Nguyen Quang Dieu and Kieu Phuong Chi, Function algebras on disks II., *to appear*.
7. P.J de Paepe, Eva Kallin's lemma on polynomially convexity., *Bull. London Math. Soc.*, **33**(2001), 1-10.
8. P.J de Paepe, Algebras of continuous functions on disks., *Proc. of the R. Irish. Acad.*, **96**(1996), 85-90.
9. P.J de Paepe, Approximation on a disk I., *Math. Z*, **212**(1993), 145-152.
10. E.L. Stout, The theory of uniform algebras., *Bogen and Quigley, Tarrytown-on-Hudson, NY*, 1971.
11. J. Wermer, Approximation on a Disk., *Math. Ann.*, **155**(1964), 331-333.